10.

VERY SHORT ANSWER TYPE QUESTIONS
Attempt ALL questions. Each question carries 2 marks.

If x* + y* — 4x + 6y + c = 0 represents a circle with radius ‘6’, then.find the value of

ety

el
Find the centre and radius of the sphere x° + it e D 1 4y - 6z=11.

Find the coordinates of the points on the parabola " = 2x whose focal distance is %

Find the equation to the hyperbola whose foci are (4,2) and (8, 2) and eccentr1c1ty
IS DA

Ify = ae™ + be™ ™, then show that y, = n’ y.

Evaluate J-Vl —Cos 2x dx

; 8
Evaluate .[“l_x_ls dx on R.
o0

2
Find the value of j [1—x|dx.
0

Find the area bounded by the parabola y=x* , the x-axis and the lines

x— 1, x=2

- dzy dy 3 E
Find the order and degree of |—% +[<2] | = 6y,
dx dx
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SHORT ANSWER TYPE QUESTIONS
Attempt any S questions. Each question carries 4 marks.

1 If a pomt P is moving such that the lengths of tangents drawn from P to the circles

. 4 6y — 12 =0 and ¥ + 3 +6x + 18y +26 =0 are in the ratio 2 : 3, then
find the equation of the locus P.





w

[dy  (dyy
. Find the order and degree of | L + (_y] :‘ =6y.

VERY SHORT ANSWER TYPE QUESTIONS
Attempt ALL questions. Each question carries 2 marks.

If X+ )"~ 4x + 6y + c = 0 represents a circle with radius ‘6’, then find the value of

G5

¢’
Find the centre and radius of the sphere x” + ) + 2% — 2x + 4y —6z=11.

Find the coordinates of the points on the parabola ¥ = 2x whose focal distance is %
Find the equation to the hyperbola whose foci are (4, 2) and (8, 2) and eccentricity
is D3]

Ify = ae™ + be

Evaluate J- V1 —cos 2x dx

- nx

, then show that y, = 7 y.

8
Evaluate J- _xh]s dx onR.
1+x
2
Find the value of [ |1 -x|dx.
0

Find the area bounded by the parabola y=x* , the x-axis and the lines
1, x=2

Tl

_d‘xz dx

SHORT ANSWER TYPE QUESTIONS
Attempt any 5 questions. Each question carries 4 marks.

: If a pomt P is moving such that the lengths of tangents drawn from P to the circles

¥ +y —dx—6y—12=0and 2 +3” +6x + 18y + 26 = 0 are in the ratio 2 : 3, then

find the equation of the locus P.



